2004 2005 2006
4 -
133 ) (133 ) (33 )
a6 ) a7 ) (11 )
(16 ) (37 ) 36 )
4 -
32 20 30
3 2 3
2 2 3
3 2 4




2004 2005 2006
15,0000 13,5000 :5,000@
:1,000km :1,000km :1,000km
50 50 50
4 -
2 2 2
4 -
96 96 96




21,095,638 21,622,848 527,210
12,894,361| 14,620,905 1,726,544
4: 12,894,361| 14,620,905 1,726,544
4- 2,054,361 2,037,141 17,220
2,054,361 2,037,141 17,220

(3320-332B-120-201-01)

(3320-332B-120-202-01)

(3320-332B-120-301-11)

(=3,108)
20,000 * 29 * 1
46,160 * 29 * 1
23,000 * 29 * 1
18,000 * 29 * 1

49,900 * 3 * 3 * 12
10,000 * 29 * 3  * 12

49,900 *3 *3 *4
49,900 * 3 *3 *2

(=12,817)

(3320-332B-120-405-02)

(3320-332B-220-206-00)

70,000 * 6 * 15
162,903 * 2 * 20

(=4,400)

30,000 * 3

200,000 * 12

580
1,339
667
522

5,390
10,440
1,797
899

6,300

6,517

90

2,400

1,000
1,000




( @ )
(3320-332B-220-401-01)
(=2,000,000)
53 1 = 2,000,000
(3320-332B-220-405-01)
= 15,420
3,864,244 5,330,871 1,466,627
3,499,000 4,850,000 1,351,000
(3320-332B-220-401-01)
« , , ) = 1,995,000
= 500,000
« ) = 499,000
= 500,000
(3320-332B-220-401-03)
« , , ) . = 5,000
365,244 480,871 115,627
(3320-332B-120-201-01)
(=20,607)
- (668 *2 ) 363,000 * 2 * 12 = 8,712
- (725KW) 451,000 * 12 = 5,412
- (150KW) 121,000 * 12 = 1,452
- 1(250KW) 139,700 * 12 = 1,677
- 2(250KW) 139,700 * 12 = 1,677
- (250KW) 139,700 * 12 = 1,677
- « . )
20,000 * 2 * 12 *0.9 = 432
(=1,620)
- 100,000 * 12 = 1,200
- 35,000 * 12 = 420




CCTV

6

2,717

(=780)

(=10,800)
1
(=7,750)
( )

3

20,000 * 12 *1
30,000 * 4 *1
23,000 * 12 * 1
12,000 * 12 * 1

,000,000 * 12 * 0.9 =

100,000,000 * 5% * 0.5

100,000,000 * 5% * 0.5 * 0.9

4,000,000 * 116 * 5% * 0.5

(=171

,633)

,623  * 365 * 12/9,000 * 55,728 * 0.5

* 365 * 12/9,000 * 42,269 * 0.5 * 2

51,740

*6,000 * 7% * 0.5

184,912 * 8,146 * 2% * 0.5

4

20,000,000 * 8

1,500,000 * 7

,000,000 * 8 * 0.5

* 5/100 * 0.5 * 0.9

*0.5*0.9

240

120

276

144

10,800

2,500

3,000

2,250

11,600

89,812

55,892

10,866

15,063

16,000

3,600

4,725




)
(=16,200)
- 3,000,000 * 34 * 10% = 10,200
- 15,000,000 * 4  * 10% = 6,000
(=18,000)
- 150,000,000 * 5/100 * 6 * 0.4 = 18,000
20,000,000 * 5/100 * 5 * 0.7 = 3,500
(=6,360)
- ( )
3¢ * 53 * 900 * 3 * 0.9 = 387
- ( )
182 * 10 * 12 * 900 * 3 * 0.9 = 5,249
- 402,000 * 2 * 0.9 = 724
4,000,000 * 7 *1 *0.9= 25,200
(3320-332B-120-202-01)
10,000 * 4 *3 *12 = 1,440
(3320-332B-220-206-00)
1,000,000 * 7 = 7,000
50,000 * 3 *12 = 1,800
( , ) (=3,000)
200,000 * 6 = 1,200
300,000 * 6 = 1,800
«C . ., ) (=18,197)
1,500,000 * 116 * 7% = 12,180
600,000 * 78 * 10% = 4,680
18,000 * 116 * 4 * 16% = 1,337




(3320-332B-220-307-05)

1 = 15,000
4- 6,705,437 6,995,262 289,825
5,458,910 5,741,981 283,071
(3320-332B-110-101-09)
(=2,627,988)
(=829,200)
- 22,400 * 75 * 365 = 613,200
- 90,000 * 75 * 12 = 81,000
- 70,000 * 75 * 12 = 63,000
- 80,000 * 75 * 12 = 72,000
(=449, 150)
- 829,200,000 / 12 * 200% = 138,200
- 829,200,000 / 12 * 200% = 138,200
- 829,200,000 / 12 * 250% = 172,750
22,400 * 13 * 75 * 12 = 262,080
45,600 * 20 * 2 * 12 = 21,888
11,400 * 75 * 30 * 12 = 307,800
23,200 * 30 * 20 * 12 = 167,040
30,400 * 75 * 20 = 45,600
45,600 * 75 * 1 * 12 = 41,040
(=47,700)
- 30,000 * 75 * 0.78 * 12 = 21,060
- 20,000 * 75 * 1.48 * 12 = 26,640
(=19, 840)
- 46,500 * 75 * 0.2 * 4 = 2,790
- 355,200 * 75 * 0.16 * 4 = 17,050
80,000 * 75 * 12 = 72,000




)
70,000 * 75 * 12 = 63,000
120,000 * 75 * 12 = 108,000
100,000 * 75 * 12 = 90,000
829,200,000 / 12 * 150% = 103,650
(=94,039)
2,627,988,000 * 4.50% = 118,260
2,627,988,000 * 1.45% = 38,106
( 57 )
2,627,988,000 * 57 / 75 * 3.30% = 65,910
( 18 )
2,627,988,000 * 18 / 75 * 2.60% = 16,399
20,000 * 75 * 1 = 1,500
60,000 * 75 * 1 = 4,500
23,000 * 75 = 1,725
12,000 * 75 * 1 = 900
10,000 * 75 = 750
26,400 * 75 = 1,980
5,000 * 75 = 375
(3320-332B-120-201-01)
(=2,405)
- 20,000 * 30 *1 = 600
- 46,160 * 30 * 1 = 1,385
- 23,000 * 15 * 1 = 345
- 5,000 * 15 *1 = 75
50,000 * 12 * 0.9 = 540
100,000 * 12 * 0.8 = 960




—A/P
-A/P

20,00
15,00
10,00

15,00
5,000

(
12

(=129,732)

(14 )
0.9 )
(2.3 )
(1.34 )
(3.6m)
(10 )
(15 )
(20 )
(1m, 2m)
(2.5-7m)
(3,000¢)
(70 )
G )
0.27 )

(=38,379)
0
0
0
(15,000
(15,000
(20,000

0

25 ) (=336,872)

(=64,

)
)

170,000,000 *

3,424,000 * 0.45 * 1 *
2,371,000 * 0.45 * 1 *
4,187,000 * 0.45 * 2 *
3,030,000 * 0.45 * 1 *
2,941,000 * 0.45 * 1 *
1,962,000 * 0.45 * 1 *
2,782,000 * 0.45 * 2 *
3,638,000 * 0.45 * 3 *
4,994,000 * 0.45 *

6,420,000 * 0.45 *

0
0
0
0
0.
0
0
0
2
2

2,217,000 * 0.45 * 1 =
41,545,000 *
5,394,000 *
2,889,000 *

514)

8,208,000
7,004,000
5,799,000
3,680,000 * 2
2,615,000 * 3

) 4,948,000 * 2

(=6,592)

6,905,000 * 1
3,557,000 * 1

0.45 * 2
.45 * 5
.45 * 1

0
0

*
*

*

2
3
3

*

* 70%
* 70%
* 70%
70%

* 70%

*

70%

*70% * 0.9
*70% * 0.9

' . . B . . '
© ©O© © O O © O O
1

170,000

1,387
961
3,392
1,228
1,192
795
2,254
4,421
4,495
5,778
998
37,391
12,137
1,301

11,492
14,709
12,178
5,152
5,492
6,928

4,351
2,241




( @ )
- (5,000 ) 1,398,000 * 1 * 70% * 0.9 = 881
- (5,000 ) 1,729,000 * 1 * 70% * 0.9 = 1,090

(3320-332B-120-202-01)
10,000 * 5 *5 *12 = 3,000
49,900 * 2 * 3 x4 = 1,198

(3320-332B-120-203-03)
= 1,000
= 2,000

(3320-332B-120-405-02)
30,000 * 9 = 270

(3320-332B-220-206-00)
( 6 ) 700,000 * 12 = 8,400

(=60, 800)

4,500 * 800 * 12 = 43,200
900,000 * 1 * 12 = 10,800
3 6,800,000 * 1 = 6,800

(3320-332B-220-401-01)
= 1,827,700

(3320-332B-220-405-01)
= 360,000

521,500 522,200 700

(3320-332B-220-206-00)
1,600,000 * 12 = 19,200

(3320-332B-220-401-01)
= 500,000

(3320-332B-220-401-03)
= 2,300

725,027 731,081 6,054




(3320-332B-120-201-01)

(=1,737)
- 198,500 * = 1,191
- 223,000 * = 446
- 50,000 * 2 = 100
60,000 * 2 = 120
~A/P (80-100 ) (=166,872)
C 1,000 * 0.6 * 3400 * 350 * 2 = 142,800
1,000  * 0.6 * 260 * 460 * 2 = 14,352
1,000 * 0.6 * 90 * 900 *2 = 9,720
~A/P (80-100t/h) 57,780,000 * 0.45 * 2 = 52,002
(=4,296)
- 3,000,000 * 1 = 3,000
- 120,000 * 12 * 0.9 = 1,296
(3320-332B-220-401-01)
( 75,000 ) (=500,000)
-AP 1 = 500,000
4- 40,111 62,144 22,033
26,674 29,377 2,703
(3320-332B-110-101-10)
28,850 * 4 * 10 1,154
(3320-332B-120-201-01)
(=3,000)
- 100,000 * 6 = 600
- 100,000 * 12 = 1,200
- 100,000 * 12 = 1,200
(=430)
- 20,000 * 10 *1 = 200




-10-

)
- 23,000 * 10 *1 = 230
(3320-332B-120-405-02)
30,000 * 3 = 90
(3320-332B-220-405-01)
2 = 16,000
2,000,000 * 1 2,000
4,000,000 * 1 4,000
13,437 32,767 19,330
(3320-332B-120-201-01)
2,000,000 * 1 = 2,000
-KS 4,200,000 * 1 = 4,200
(3320-332B-120-202-01)
49,900 * 3 * 4 599
49,900 * 3 *3 = 450
KS 49,900 * 3 *3 *3 = 1,348
(3320-332B-220-206-00)
(=4,840)
90,000 * 12 = 1,080
500,000 * 2 = 1,000
90,000 * 12 = 1,080
140,000 * 12 = 1,680
4- 230,208 195,487 34,721
148,854 136,823 12,031
(3320-332B-120-201-01)
(=5,008)
- 110,000 * 12 * 0.9 = 1,188
- = 2,140
- 140,000 * 12 = 1,680




(=7,265)
- 170,000 * 30 * 1 = 5,100
- 46,160 * 30 * 1 = 1,385
- 18,000 * 30 * 1 = 540
- ( ) 8,000 * 30 *1 = 240
(3320-332B-120-202-01)
10,000 * 30 * 10 * 12 36,000
(3320-332B-120-203-03)
= 4,000
= 1,000
(3320-332B-120-301-08)
(=95,581)
35,810 * 40 * 12 = 17,189
45,000 * 40 * 12 = 21,600
100,000 * 40 * 12 = 48,000
146,000 * 40 * 1 = 5,840
73,800 * 40 * 1 = 2,952
81,354 58,664 22,690
(3320-332B-120-201-01)
(=14,940)
- 2,050,000 * 4 * 0.9 = 7,380
- 3,450,000 * 2 * 0.9 = 6,210
- 50,000 * 12 * 2 * 0.9 = 1,080
- 150,000 * 2 * 0.9 = 270
(=14,350)
- 2,050,000 * 1 = 2,050
- 3,500,000 * 1 * 0.9 = 3,150

-11-




-12-

)
_ 3,450,000 * 2 = 6,900
- 50,000 * 3 * 12 = 1,800
- 150,000 * 1 *3 = 450
(=14,400)
- 300,000 * 20 = 6,000
- 100,000 * 12 = 1,200
2,000,000 * 4  * 0.9 = 7,200
(3320-332B-220-206-00)
(=664)
20,000 * 20 = 400
26,400 * 10 = 264
(3320-332B-220-401-01)
8,000,000 * 1 = 8,000
3 12,000,000 * 1 = 12,000
(3320-332B-220-405-01)
= 17,000
7,301,277 7,001,943 299,334
(3320-332B-110-101-01)
(=2,473,210)
-4 2,369,300 * 1 * 12 * 1.024 = 29,114
5 2,131,600 * 5 * 12 * 1.024 = 130,966
-6 1,799,700 * 16 * 12 * 1.024 = 353,836
7 1,410,200 * 28 * 12 * 1.024 = 485,200
-8 1,134,700 * 26 * 12 * 1.024 = 362,524
6 1,775,700 * 3 * 12 * 1.024 = 65,460
1,555,600 * 10 * 12 * 1.024 = 191,153
8 1,348,500 * 7 * 12 * 1.024 = 115,993




10

1,169,400 * 35
686,000 * 28

(3320-332B-110-101-02)

© 0 N O

10

10

10

10

(=431,956)
(=271,097)
8,506 * 5
7,216 * 16
6,475 * 28
5,802 * 26
7,216 * 1
6,475 * 3
5,802 * 3
5,204 * 4
4,708 * 16
(=8,654)
5,802 * 1
4,708 * 1
(=40,528)
6,475 * 2
5,204 * 12
4,708 * 4
(=46,083)
7,216 * 1
6,475 * 2
5,204 * 14
4,708 * 3

35
35
35
35
35
35
35
35
35

67
67

35
35
35

35
35
35
35

* 12
* 12
2,473,210,000
2,473,210,000

12
12
12
12
12
12
12
12
12

12
12

12
12
12

12
12
12
12

*

*

1.
1.

e e e T = T = ==

[ERN

L I N

024
024
2/12
2/12

.024 =
.024 =
.024 =
.024 =
.024 =
.024 =
.024 =
.024 =
.024 =

.024 =
.024 =

.024 =
.024 =
.024 =

.024 =
.024 =
.024 =
.024 =

502,936
236,028
412,202
412,202

18,292
49,656
77,974
64,879
3,104
8,355
7,486
8,953
32,398

4,777
3,877

5,570
26,858
8,100

3,104
5,570
31,334
6,075

-13-




-14-

(=4,282)

)

(=57,280)
- 6 7,216 * 1 67 * 12 *1.024 = 5,941
- 7 6,475 * 3 67 *12 *1.024 = 15,993
- 8 5,802 * 3 67 *12  *1.024 = 14,331
- 9 5,204 * 4 67 *12 *1.024 = 17,138
- 10 4,708 * 1 67 *12 *1.024 = 3,877

(=8,314)

- 9 5,204 * 1 35 *12 *1.024 = 2,239
- 10 4,708 * 3 35 *12 *1.024 = 6,075

(=115,445)

(=5,166)
- 8 15,472 *1 *15 * 12 *1.024 = 2,852
- 10 12,552 * 1 *15 *12 *1.024 = 2,314
(=21,616)

- 17,264 *2 *7 *12 *1.024 = 2,970
- 9 13,880 * 12 *7 *12 *1.024 = 14,327
- 10 12,552 * 4 *7 *12 *1.024 = 4,319

(=52,671)
- 6 19,240 *1 * 15 *12 *1.024 = 3,547
- 17,264 * 2 * 15 *12 *1.024 = 6,365
- 9 13,880 * 14 * 15 * 12 *1.024 = 35,818
- 10 12,552 *3 * 15 *12 *1.024 = 6,941

.24 (=21,357)

- 6 19,240 * 1 *15 * 12 *1.024 = 3,547
- 7 17,264 *3 * 15 *12 *1.024 = 9,547
- 8 15,472 *2 *15 * 12 *1.024 = 5,704
- 9 13,880 *1 *15 *12 *1.024 = 2,559




N 15,472 * 1 *5 * 12
-9 13,880 * 3 * 5 * 12
- 10 12,552 * 1 *5 * 12
(=3,412)
-9 13,880 * 1 * 20 * 12
(=6,941)
- 10 12,552 * 3 * 15 * 12
(=28,191)
(=21,376)
- 7 47,815 * 2 * 30
-9 38,426 * 12 * 30
- 10 34,763 * 4 * 30
(=4,240)
- 7 47,815 * 2 * 24
-9 38,426 * 2 * 24
(=866)
-9 38,426 * 1 * 22
(=1,709)
- 10 34,763 * 3 * 16
(=101,125)

.024

.024

.024

.024

.024

.024

.024

.024

.024
.024

.024

.024

30,000 * 159 * 0.78 * 12

20,000 * 159 * 1.48 * 12

(=42,061)
46,500 * 159 * 0.20 * 4
355,200 * 159 * 0.16 * 4
(=160, 320)
.25 130,000 * 39

-20 25 110,000 * 20

* 12
* 12

951

2,559

772

3,412

6,941

2,938

14,166

4,272

2,351
1,889

866

1,709

44,648
56,477

5,915
36,146

60,840
26,400




15 20 80,000 * 30 * 12 = 28,800
.10 15 60,000 * 44 * 12 = 31,680
510 50,000 * 21 * 12 = 12,600
«C ) 40,000 * 17 * 12 = 8,160
1,139,006,400 * 6% * 1.024 = 69,981
29,114,000 * 11% = 3,203

(=22,500)
-5 25,000 * 5 * 12 = 1,500
15,000 * 34 * 12 = 6,120
8 9 10,000 * 19 * 12 = 2,280
50,000 * 2 * 12 = 1,200
) 30,000 * 25 * 12 = 9,000
20,000 * 10 * 12 = 2,400

(=840)
30,000 * 1 *12 = 360
15,000 * 2 * 12 = 360
10,000 * 1 * 12 = 120

(=17,520)

40,000 * 35 * 12 = 16,800
20,000 * 3 * 12 = 720
30,000 * 1 * 12 = 360
50,000 * 2 * 12 = 1,200

(3320-332B-110-101-03)
130,000 * 159 * 12 = 248,040
130,000 * 7 * 12 = 10,920

(3320-332B-110-101-04)
4 5 140,000 * 6 * 12 = 10,080
6 7 130,000 * 57 * 12 = 88,920




8 120,000 * 96 * 12 = 138,240
120,000 * 7 * 12 = 10,080
(3320-332B-110-101-05)
2,473,210,000 * 1.5/12 = 309,152
95,194,000 * 1.5/12 = 11,900
(3320-332B-110-101-06)
2,473,210,000 * 2.5/12 = 515,253
95,194,000 * 2.5/12 = 19,833
(3320-332B-110-101-07)
2,473,210,000 * 18/288 = 154,576
95,194,000 * 18/288 = 5,950
(3320-332B-110-101-08)
(=188,576)
1,106,700 * 7 * 12 * 1.024 = 95,194
95,194,000 * 2/12 = 15,866
95,194,000 * 2/12 = 15,866
(=49,704)
- 5,506 * 67  *7 *12 * 1.024 = 31,732
- ( )
14,680 * 15 * 2 * 12 * 1.024 = 5,412
- ( )
14,680 * 7 *5 *12 * 1.024 = 6,314
- ( )
40,659 * 30 * 5 * 1.024 = 6,246
(=4,453)
- 30,000 * 7 * 0.78 * 12 = 1,966
- : 20,000 * 7 * 1.48 * 12 = 2,487

(=5,640)




-15 20 80,000 * 3 * 12

-10 15 60,000 * 3 * 12

-5 10 50,000 * 1 * 12
(=1,853)

- 46,500 * 7 * 0.20 * 4
- 355,200 * 7 *0.16 * 4
(3320-332B-120-201-01)

15,000 * 2 * 12
187,000 * 2 * 2
(=3,780)

- 2 * 100,000 * 12 * 0.
- 1 * 100,000 * 12 * 0.9
- 1 *50,000 *12 *0.9

150,000 * 12
( 4 ) 900,000 * 2

1,000,000 * 2 * 0.

(=2,200)

- 60,000 * 12 * 0.

- 400,000 * 1
- 96,000 * 12

1,000,000 * 1 * 0.
5,000 * 500 * 0.

240,000 * 2 *1

2,880
2,160

600

261

1,592

28,600

360
748

2,160
1,080

540

1,800
1,800
3,500
1,800

648
400

1,152

498
900

2,250

480




240,000 * 2 * 1

16,400 + (54.25 * 11,900)
55,000 * 2 *1 *0.9=
55,000 * 1 * 0.9 =

(=6,989)
55,000 * 5 * 2
43,000 * 1 * 2 =
60,000 * 6 * 2
(20 ) 5,633,000 *
(=3,373)
210,000 *
65,000 *
493,000 *
34,500 *
20 ) 2,138,000 *
(=13,348)

= T ¢ =
It

133,000 *
254,000 *
135,000 *
234,000 *
3 ) 10,406,000 *

(=17,388)
a€.2 ) 70,000 * 17 * 12 *0.9
30,000 * 6 * 12 * 0.9

(=1,656)

B ok Ul
" 1

60,000 * 6
20,000 * 6 *12 *0.9
5,000 * 12 * 12 * 0.7 =

480
662
99
50

550
86
720
5,633

210
325
493
207
2,138

133
1,270
135
1,404
10,406

12,852
1,944

360
1,296
504

-19-




-20-

)
(=4,500)
= 4,000
= 500
(=8,144)
600,000 * 12 * 0.9 = 6,480
110,000 * 12 * 0.9 = 1,188
14,000 * 12 * 0.9 = 152
30,000 * 12 * 0.9 = 324
(=984)
(=84)
4,000 *1 *12 = 48
3,000 1 *12 = 36
100,000 * 1 = 100
800,000 * 1 = 800
3,000 * 9 = 27
(=553, 458)
7,000,000 * 12 = 84,000
820,000 * 12 * 0.9 = 8,856
(=7.272)
3 20,000 * 4  * 12 = 960
70,000 * 2 * 12 * 0.9 = 1,512
100,000 * 4  * 12 = 4,800
11,830,000 * 12 * 0.9 = 127,764
3,850,000 * 12 * 0.9 = 41,580
13,286,000 * 12 = 159,432
2,750,000 * 12 = 33,000
2,750,000 * 12 = 33,000
2,566,000 * 12 = 30,792




1.2

14

(=10,000)
(10 )

(=6,433)

(=3,185)

513,455 * 12

2,000,000 * 12 * 0.

30,000 * 1 * 352
40,000 * 1 * 13
30,000 * 3 * 102
150,000 * 4 * 1

5,000 * 95 * 2 * 12
5,000 * 7 * 40

5,000 * 24 * 12

2,000,000 * 1
500,000 * 1
500,000 * 1
267,000 * 4

2,365,000 * 1

2,400,000 * 1

1,000,000 * 1
300,000 * 1

250,000 * 1 * 0.

220,000 * 12

6,162
21,600
10,560

520
9,180
600
11,400

1,400

1,440
10,000

1,349

2,000

5,000
5,000

2,000
500
500

1,068

2,365

2,400

1,000
300
225

2,640

4,500

-21-




- (5,000 ) 2,649,000 * 1 * 70% * 0.9 = 1,669
- (5,000 ) 1,664,000 * 1 * 70% * 0.9 = 1,049
— (10,000 ) 2,220,000 * 1 * 70% * 0.3 = 467
(=7,965)
- (15,000 ) 2,605,000 * 1 * 70% * 0.9 = 1,642
- (25,000 ) 4,516,000 * 4 * 70% * 0.5 = 6,323
(=3,076)
- (20,000 ) 2,929,000 * 3 * 70% * 0.5 = 3,076
(=2,671)
- (10,000 ) 2,281,000 * 1 * 70% * 0.9 = 1,438
- (10,000 ) 1,957,000 * 1 * 70% * 0.9 = 1,233
(3320-332B-120-202-01)
10,000 * 95 * 8 * 12 = 91,200
(3320-332B-120-203-01)
= 3,000
(3320-332B-120-203-02)
(=4,475)
-100 30,000 * 100 = 3,000
101 400 25,000 * 59 = 1,475
(3320-332B-120-203-04)
(=19,620)
~(300,000 + 5,000 * 15 ) * 12 = 4,500
-300,000 * 12 = 3,600
2 -200,000 * 12 = 2,400
~(300,000 + 5,000 * 32 ) * 12 = 5,520
-300,000 * 12 = 3,600

(3320-332B-120-204-01)
(=10, 800)




-4
-5
(3320-332B-120-204-02)

(=245,400)

-4

-5

-6 6

-7

-8 8 9

10

(3320-332B-120-204-03)
(=97,800)
(=97,800)

(3320-332B-120-307-07)

(3320-332B-220-206-00)

(3320-332B-220-401-01)

(3320-332B-220-405-01)
(=433,420)

(=9,580)

400,000 * 1 * 12
100,000 * 5 * 12

400,000 * 1 * 12
250,000 * 5 * 12
155,000 * 19 * 12
140,000 * 38 * 12
105,000 * 68 * 12
95,000 * 28 * 12
105,000 * 7 * 12

50,000 * 156 * 12
50,000 * 7 * 12

1,000,000 * 10

60,000 * 5
100,000 * 12

18,480,000 * 1

530,000 * 1

4,800
6,000

4,800
15,000
35,340
63,840
85,680
31,920

8,820

93,600
4,200

10,000

300
1,200

18,480

25,000

530

-23-




~24-

4 ) 900,000 * 1 900
350,000 * 1 350
3,000,000 * 1 = 3,000
700,000 * 2 1,400
1,000,000 * 3 3,000
100,000 * 4 = 400
898,000 * 2 = 1,796
900,000 900,000
(3320-332B-320-401-01)
2 ( = 900,000




